Ta. Which representation shows the
greatest amount?

A) 6,128

B)
1,000 1,000 1,000 (100 10 | 1

1.000 1,000 100 1

T

5a. Which representation shows the
greatest amount?

A) Four thousand, three hundred and
eighty two

B)
1,000 1,000 100 100 1 1 1

1,000 1.000 100 100 1 1 1

2a. Which number correctly completes
the statement below?

[ 100 more than 3,112 is equal to...

A. 3,212
B. 3,122

¢

6a. Which number correctly completes
the statement below?

One thousand more than 4,840 is less than... ]

A. Five thousand, eight hundred and
thirty
B. 5000+800+40+4

3a. Which two digit cards comectly
complete the statement below?

2] (5] (7) (8
ED@ > 8614

7a. Which two digit cardsz corectly
complete the statement below?

) (4) (7) (8]
()6 [][2) > saepmemene s

4a. Which statements are incormrect?

2,781 < 2,598

1,000 1,000 100 1
4112

1,000 1,000 10 1

8,541 > 9.356

8a. Which statements are incomrect?

8.000 + 900 + 2 { Eight thousands,

nine tens and six ones

1.000 1.000 1.000 1

3,416 >

100 100 10 1

One thowsand, one
hundred and four ones

1,000 + 100 + 40 =




